
© 2024 Nordson Corporation Encore® VT Rail/Wall Mount System Installation Guide

Installation Guide
1626651-01  

© 2024 Nordson Corporation
Original Copyright Date 2024 Issued: 12/2024

 Encore® VT Rail/Wall 
Mount System

Follow the safety, operation, and maintenance instructions in the product manual.
Refer to the (Encore VT Manual Powder Spray Systems) manual 1626653 for 
additional information.

M4 x 8; Qty. 8

M6 x 20; Qty. 4 

M8 x 40; Qty. 4  

M4; Qty. 8

M6; Qty. 20

M6; Qty. 4

M8; Qty. 4

M6 x 12; Qty. 20

2.5 mm

4 mm

BA



© 2024 Nordson CorporationEncore® VT Rail/Wall Mount System Installation Guide

2

2X M6 x 20
4 mm

2X M6 x 12
4 mm

4X M4 x 8
2.5 mm

2X M8 x 40
M13

2X M6 x 20
4 mm

4X M4 x 8
2.5 mm

1A 1B

2X M8 x 40
M13

12X M6 x 12
4 mm

M6 x 12 M6

4 mm
6X M6 x 12

2A 2B

M4 x 8

M6 x 12

M6 x 20 

M8 x 40   

M4

M6

M6

M8

M4

M6

M4 x 8

M6 x 20 

M6

M8M8 x 40   

M6 x 12



© 2024 Nordson Corporation Encore® VT Rail/Wall Mount System Installation Guide

3

M8

3

4



© 2024 Nordson CorporationEncore® VT Rail/Wall Mount System Installation Guide

4

© 2024 Nordson Corporation

4

Issued 12/24

Original copyright date 2024. Nordson, Encore, and the Nordson logo are registered trademarks of Nordson Corporation.

All other trademarks are the property of their respective owners.

12 mm

6 mm 4 mm

M26

8 mm

8 mm

5

6 7




